## ORIGINAL

### RECEIVED KANSAS CORPORATION COMMISSION KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

September 1999 AUG 1 3 2007 Form Must Be Typed

Form ACO-1

#### **WELL COMPLETION FORM**

WELL CONFELLIOIT. LEASE CONSERVATION DIVISION WICHITA, KS

Operator: License # 3956	API No. 15 - 141-20371-0000
Name: Brungardt Oil & Leasing, Inc.	County: Osbome
Address: P.O. Box 871	SW - SE - SW - Sec. 1 Twp. 10 S. R. 15 ☐ East  West
City/State/Zip: Russell, KS 67665	340 feet from (S)/ N (circle one) Line of Section
Purchaser: N.C.R.A.	1 4040
Operator Contact Person: Gary L. Brungardt	feet from E /(W) (circle one) Line of Section
Phone: (_785) _ 483-4975	Footages Calculated from Nearest Outside Section Corner:
Contractor: Name: Mid-Kan Well Service	(circle one) NE SE NW (SW)  Lease Name: Beisner Trust Well #: 1
License: 6426	Lease Name: Beisner Trust Well #: 1
Nellsite Geologist: Brad Hutchison	Field Name: Ruggels Producing Formation: C and D zones, Lansing
Designate Type of Completion:	Elevation: Ground: 1880 Kelly Bushing: 1885
New Well Re-Entry Workover	Total Depth: 3750 Plug Back Total Depth:
OilSWDSIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 222 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
f Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from 1140
Operator:	feet depth to surface w/ 180 sx cmt.
Vell Name:	Pat Bedre KCC Hays Witnessed  Drilling Fluid Management Plan
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit)  Aut TWHM 12-14-
Deepening Re-perf Conv. to Enhr./SWD	Chloride contentppm Fluid volumebbls
Plug Back Total Depth	Dewatering method used Evaporation
Commingled Docket No.	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	Location of fluid disposal it flatied diffice.
Other (SWD or Enhr.?) Docket No	Operator Name:
6-11-2007 6-19-2007 7-09-2007	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R East West
tecompletion Date Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline logs	h the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING
TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells all requirements of the statutes, rules and regulations promulgated to regulation are complete and correct to the best of my knowledge.	late the oil and gas industry have been fully complied with and the statements
ignature: Skryh Demoull	KCC Office Use ONLY
itle: Owner 7 Date: 8/9/07	Letter of Confidentiality Received
subscribed and sworn to before me this At day of Quality	If Denied, Yes Date:
007.	Wireline Log Received
$O_{O_1}$	Geologist Report Received
lotary Public: Clillere ( Wehmerster	UIC Distribution
late Commission Expires: 10/23/2010	
CARLENI NOT	E HACHMEISTER TARY PUBLIC E OF KANSAS XD. 1012312010

•			Lease Na	me: Beisne	rirust		Well #:		
	10 S. R. 15		County:	Osborne					
tested, time tool ope temperature, fluid re	n and closed, flowing covery, and flow rate	and base of formations p g and shut-in pressures, s if gas to surface test, a linal geological well site	whether shut- along with final	in pressure	reached stat	ic level, hydr	ostatic pressur	es, bottom	n hole
Drill Stem Tests Take		✓ Yes  No		<b>√</b> Log	Formation (	Top), Depth	and Datum	<b></b> ✓s	Sample
Samples Sent to Geological Survey			Name			Тор	D	atum	
Cores Taken		Yes No		See attache	d Geologist	Report			
Electric Log Run (Submit Copy)		✓ Yes No		with informa	•	•	RECEIVED CORPORATION C	OMMISSIO	)N
List All E. Logs Run: Micro Log Sonic Log Radiatlon Log Cement Bond Log					,	A	UG 1320	07	
Comont Dong Log		OAGINO	DECORD. (	<del></del>			WICHITA, KS		
		CASING Report all strings set-	-		Used e, production,	etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.		etting epth	Type of Cement	# Sacks Used		nd Percent Iditives
Surface	12 1/4	8 5/8	New 24#	222		ommon	165		5 sks chloride
Production	7 7/8	4 1/2	New 10.5#	3743	С	ommon	275	26 sks s	alt
									,
		ADDITIONAL	CEMENTING	/ SQUEEZE	RECORD				
Purpose: Perforate	Depth Top Bottom	Type of Cement	#Sacks Use	ed		Type and	Percent Additives	3	
Protect Casing Plug Back TD Plug Off Zone	1140' to surface	Common	180	17 sk	s salt				
Shots Per Foot		ON RECORD - Bridge Plu Footage of Each Interval Pe				o, Shot, Cemer	it Squeeze Reco	rd	Depth
1	3118 1/2			2500	gals 15% ad	oid bic			3118 1/2
1	3133 1/2			2500	gals 15% a	id		:	3133 1/2
TUBING RECORD	Size 2 3/8	Set At 3408	Packer At None	Liner	RunY	es 📝 No	)		
Date of First, Resumer 7/12/2007	d Production, SWD or E	nhr. Producing Met		Flowing [	✓ Pumping	Gas Li	ft 🗌 Oth	er (Explain)	
Estimated Production Per 24 Hours	Oil 40	Bbls. Gas	Mcf	Water	Bbls.	(	Gas-Oil Ratio		Gravity 39
Disposition of Gas	METHOD OF C		<del></del>	Produ	ction Interval				
Vented Sold	✓ Used on Lease ubmit ACO-18.)	☐ Open Hole ☐ Other (Spec	Perf.	Dually Co	omp.	Commingled _			



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax: (785) 483-5566

Long String

INVOICE

Invoice Number: 108796

Invoice Date: Jun 21, 2007

Page: 1

Federal Tax I.D.#:

## BIII To by.

Brungardt Oil Company P. O. Box 871 Russell, KS 67665

Customer ID 1997	AWell:Name/#'or Customer P.O: المنظمة ا	A Paymen	Terms
Brung	Beisner Trust #1	Net 30	Days
Sales:Rep ID	Concampillocation (1997)	Service Date	Due Date
	Russell	Jun 21, 2007	7/21/07

Quantity Liem Pescription Unit Price Amoi	C- 10-37, 45%
27F 00   MAT	0.050.50
275.00 MAT Common 11.10	3,052.50
26.00 MAT Salt	499.20
500.00 MAT WFR-2	500.00
301.00 SER Handling 1.90	571.90
38.00 SER Mileage 301 sx @.09 per sx per mi 27.09	1,029.42
1 00 SEP Dump Trusk Charas RECEIVED	1,610.00
38.00 SER Mileage KANSAS CORPORATION COMMISSION 1,610.00	228.00
1.00 EQP Guide Shoe AUG 1 3 2007 150.00	150.00
1.00 EQP AFU Insert 225.00	225.00
1.00 EQP Blue Port Collar CONSERVATION DIVISION 1,600.00	1,600.00
8.00 EQP Turbolizers WICHITA, KS 60.00	480.00
1.00 EQP Centralizer 45.00	45.00
1.00 EQP Basket \ \ \ \ 150.00	150.00
1.00 EQP Rubber Top Plug 55.00	55.00
Completion Price 9,635.88	
Disa. Price 9,635,88	
Nave 30 days to pay	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1019.60

ONLY IF PAID ON OR BEFORE

Jul 21, 2007

Subtotal Subtotal	30 days 40 pay 10,196.02
Sales Tax	459.46
Total Invoice Amount	10,655.48
Payment/Credit Applied	
TOTAL	RECEIVED 10,655.48

KANSAS CORPORATION COMMISSION

AUG 13 2007

CONSERVATION DIVISION WICHITA, KS

# ALLIED CEMENTING CO., INC. 21997

REMIT TO P.O. B RUSS		NSAS 6766		•		SERVICE (	POINT:	<u>u</u>
DATE / -19-0B	SEC.	TWP./o	RANGE	CALLED OUT	ON LOCAT		START	JOB FINISH
DATE 6-19-07 ROISINGE	,	1					OOPM	2:45Am
FEYZE TOUST	WELL#		LOCATION KIKS	u N. 70	K-18 JcT.	05	sborne	STATE RANSAS
OLD OR NEW (Cir	cle one)		10'2W 4	AN SE IS	3 EAS I			
CONTRACTOR &	DHIER	ne Do	ba Ria#	OWNER				
TYPE OF JOB	PRO	ODUCTIO		OWNER	***			
HOLE SIZE 7 1/8		T.D.	3250	CEMENT	r .	ر ب		
CASING SIZE 4	2 NO 50 4	DEP		<b>3</b> _ AMOUNT	ORDERED 2	15 (	Ono.	102 SOLT
TUBING SIZE DRILL PIPE	<u> 10,5                                   </u>	DEP DEP			500	GAL L	SFR-Z	
3 -	NS CR		THC 3/20	<del>)</del> ;				
PRES. MAX			IMUM	COMMO	$N_{\underline{}}$ $Z7$	<b>5</b> @	110	30525
MEAS. LINE		SHO	E JOINT 23/	POZMIX		@		
CEMENT LEFT IN PERFS.	CSG	)		GEL		@_		
DISPLACEMENT			59.33/BB	CHLORIE	DE	@ <sub>-</sub> @ -		
	EOL	JIPMENT	7. /66	SALT		<u></u>	1920	//CGZO
	240	711 11123111	,		EIVED S	<b>x</b> @	100	500°
PUMP TRUCK C	EMENT	ER GRAG	Y	KANSAS CORPOR	RATION COMMISSION	@		
	IELPER			AUG	3 2007	@_		
BULK TRUCK		Q#1	-			@ @_		
# 378 E	RIVER	CHUCK			ATION DIVISION HITA, KS			
	RIVER			<u></u>		@_		
				- HANDLIN		_ @ _ لد	190	57/90
	REN	MARKS:	,•	MILEAGE	38			1029 E 5653°
RUN PORT COL			IT. (1/40				ŢOTAL	<u> </u>
1		<i>#</i>			SE	RVICE		
LAND AUGE RELEASED G		/ / / /	(670)					
Merson d	FIDA	1- (a	(20)	DEPTH O	F JOB UCK CHARGE _			161000
JOSK @ MC		40/e			OCK CHARGE O			/6/0-
15 SKE ROT	Hole			MILEAGE	38		600	Z28000
		<del></del>	THANK		.D		<u> </u>	
4			_			@		
CHARGE TO:	Rillia	2017	On Floor			@_		
	MANY	ACK D /	CIL CAUSI	<b>~</b> J~			TOTAT	\838 <u>≈</u>
STREET		<del></del>		_ <del>_</del>			IOIAL	700-
CITY	STA	ATE	ZIP	·				
				·	PLUG & FL	OAT EQ	UIPMENT	
				Giuide	shoe			<u>/60 🕉</u>
				A RI UP O	ORT COLLER	@ @_		225 =
To Allied Cementin	ng Co. I	nc			30 CenT		60°	1/80 %
You are hereby req			enting equipment			@_		45 =
and furnish cemen	ter and h	elper to ass	sist owner or	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	sket Table	<u> </u>		1500
contractor to do wo				RUBB	er TRP. F	714 9		30 ···
done to satisfaction				~			TOTAL .	2705°°
contractor. I have CONDITIONS" lis								
COMDITIONS IIS	sicu OII (f	ie reverse (	siae.			<del>-</del>		
				TOTAL CF	HARGE			
				DISCOUN	T		IF PAID	IN 30 DAYS
SIGNATURE <b>S</b>		z. Q						
SIGNATURE <b>W</b>	wie	m C	sery	_ Buy	ation B	eery		71-1
			$\bigcirc$		PR	INTED X	AME	

Bisnor Trust 1

CEMENTING CO., LLC
Cementing & Acidizing Services

## INVOICE

Invoice Number: 108710

Invoice Date: Jun 15, 2007

Page:

P.O. Box 31 Russell KS 67665-2906

24 S. Lincoln Street

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Bill To:

Brungardt Oil Company P. O. Box 871 Russell, KS 67665

Customer ID	Well Name# or Customer P.O.	Paymen	t Terms
Brung	Beisner Trust #1	Net 30	Days
Sales Rep ID	Camp Location	Service Date	Due Date
i	Russell	Jun 15, 2007	7/15/07

Quantity	Item	Description	Unit Price	Amount
165.00	MAT	Common	11.10	1,831.50
3.00	MAT	Gel	16.65	49.95
5.00	MAT	Chloride	46.60	233.00
173.00	SER	Handling	1.90	328.70
33.00	SER	Mileage 173 sx @.09 per sx per mi	15.57	513.81
1.00	SER	Pump Truck Charge	815.00	815.00
33.00	SER	Mileage	6.00	198.00
1.00	EQP	Wooden plug	65.00	65.00

Pay Disa. Price 3,179.66

RECEIVED KANSAS CORPORATION COMMISSION

AUG 1 3 2007

CONSERVATION DIVISION WICHITA, KS

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

403.50

ONLY IF PAID ON OR BEFORE

Jul 15, 2007

Subtotal	4,034.96
Sales Tax	148.20
Total Invoice Amount	4,183.16
Payment/Credit Applied	And the second section of the second section s
TOTAL	4.183.16

## ALLIED CEMENTING CO., INC.

REMIT TO P.O. BOX 31 SERVICE POINT: **RUSSELL, KANSAS 67665** Russell TWP. CALLED OUT ON LOCATION JOB START JOB FINISH 5,30 ar COUNTY OSBOCA C STATE LOCATION Nationa + 657 Rd 46N 3E 15 2.9 SENTO OLD OR NEW (Circle one) **OWNER** TYPE OF JOB Sur tace HOLE SIZE 12/4 **CEMENT** T.D. CASING SIZE F 7/2 DEPTH 222 AMOUNT ORDERED **TUBING SIZE DEPTH DRILL PIPE DEPTH** TOOL **DEPTH** PRES. MAX @\_1110 **MINIMUM** COMMON\_ MEAS. LINE POZMIX @ CEMENT LEFT IN CSG. GEL @ PERFS. CHLORIDE @ DISPLACEMENT ASC \_\_\_\_ @ @ **EOUIPMENT** @ @ **PUMP TRUCK** CEMENTER @ 366 HELPER Robert @ **BULK TRUCK** @ # 345 DRIVER @ **BULK TRUCK** @ DRIVER HANDLING\_\_ @ MILEAGE \_ **REMARKS: SERVICE DEPTH OF JOB** PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE @ MANIFOLD\_ @ @ RECEIVED KANSAS CORPORATION COMMISSION @ CHARGE TO: Bringardt Oil AUG 13 2007 TOTAL \_\_1013 == STREET \_\_ CONSERVATION DIVISION WICHITA, KS ZIP\_ **PLUG & FLOAT EQUIPMENT** @ Aug @ To Allied Cementing Co., Inc. @ You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or TOTAL 65 contractor. I have read & understand the "TERMS AND TAX \_\_ CONDITIONS" listed on the reverse, side. TOTAL CHARGE \_\_\_\_ IF PAID IN 30 DAYS



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice: (785) 483-3887 Fax: (785) 483-5566 Portcollardob.

INVOICE

Invoice Number: 108975

Invoice Date: Jul 3, 2007

Page:

Bill To:

Brungardt Oil Company P. O. Box 871 Russell, KS 67665

Customer ID	Well Name/# or Customer P.O.	Paymen	Terms
Brung	Beisner Trust #1	Net 30	Days
Sales Rep ID	Camp Location	Service Date	Due Date
	Russell	Jul 3, 2007	8/2/07

Quantity	! Item !:	Description		Unit Price	Amount
180.00	MAT	Common		11.10	1,998.00
17.00	MAT .	Sait	\ \	19.20	326.40
317.00	SER	Handling		1.90	602.30
36.00	SER	Mileage 317 sx @.09 per sx per mi	7 11.10	28.53	1,027.08
1.00	SER	Port Collar	Q (1)	955.00	955.00
		Completion			
		Pay Disc. pri	e 4575	796 BECEN	ED.

before 8/2/07

RECEIVED KANSAS CORPORATION COMMISSION

AUG 1 3 2007

CONSERVATION DIVISION WICHITA KS

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 490.88

ONLY IF PAID ON OR BEFORE

Aug 2, 2007

Subtotal	4,908.78
Sales Tax	158.06
Total Invoice Amount	5,066.84
Payment/Credit Applied	
TOTAL	5,066.84

# ALLIED CEMENTING CO., INC. 33119

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:
CEC TWD D. MCC	
DATE 6-29-07 SEC. / TWP. RANGE	CALLED OUT ON LOCATION JOB START JOB FINISH
LEASE TRUST WELL# / LOCATION 28/	E 18 10'Z W 4/ZN COUNTY STATE,
OLD OR(NEW (Circle one) 3 E 3	SEE.
CONTRACTOR MID-KAJ	OWNER
TYPE OF JOB PORT COLAR	
HOLE SIZE T.D.	CEMENT
CASING SIZE 4/2 DEPTH TUBING SIZE 2.78 DEPTH ///0'	AMOUNT ORDERED 300 Com 10% SACT
TUBING SIZE 2 % DEPTH //40 DEPTH	<u>used</u> 180
TOOL DEPTH	<u>used</u> 180
PRES. MAX MINIMUM	COMMON
MEAS. LINE SHOE JOINT	POZMIX @
CEMENT LEFT IN CSG.	GEL @
PERFS.	CHLORIDE @
DISPLACEMENT	ASC@
EQUIPMENT	SALT 17 @ 1920 32640
	RECEIVED @
PUMPTRUCK CEMENTER MARK	KANSAS CORPORATION COMMISSION @
# 364 HELDER" Ro3	AUG 1 3 2007 @
BULK TRUCK	
# 396 DRIVER JOHN	CONSERVATION DIVISION @
BULK TRUCK	WICHITA, KS @
# DRIVER	- HANDLING <u>3/7</u> @ / 20 602 30
	MILEAGE 99/5/1/36 MZLE 1027°8
REMARKS:	7027
$\wedge$	TOTAL 3953 A
TO 1000 DOEN TOOL BREAK CIEC	, annuar e
MIX 180 SX CIEC CEMENT DISPIR	SERVICE
4 BBL CLOSE TOOL PRES TO 1000	~
RAJ 5 JTS WASH REVERSE MEAN	DEPTH OF JOB
W/20 BBL AUL TOUS	——————————————————————————————————————
THANKS	EXTRA FOOTAGE @ @
THANKS	MANIFOLD@
l	@
CHARGE TO: BRUNGARDT OTL FLEAS	WG
	TOTAL <u>955°</u>
STREET	TOTAL
CITYSTATEZIP	
	PLUC & FLOAT FOLIDMENT
Pat Bedore K.C.C. Widne	ssal and Okad from Hays Obice
<b>V</b> 4.1. <b>C</b> C C	@
To Allied Cementing Co., Inc.	@
You are hereby requested to rent cementing equipment	
and furnish cementer and helper to assist owner or	
contractor to do work as is listed. The above work was	
done to satisfaction and supervision of owner agent or	TOTAL
contractor. I have read & understand the "TERMS AND	m
CONDITIONS" listed on the reverse side.	TAX
	TOTAL CHARGE
	DISCOUNT IF PAID IN 30 DAYS
SIGNATURE	
	PRINTED NAME